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XHR mE #E 2 2 4 1 1) 3 O 4 (1)] 1.00 [ 0.75
NRy biR—)L 2 2 5 (1) 5 (1)[ 2.50 | 1.00
INL—HR—)L 3 3 8 3) 8 3)| 2.67 1.00
&t 9 1 (1) 16 (4) 17 ()| 1.89 0.89
= L% NL—FR—JL 3 3 1 (0) 1 (0)[ 0.33 | 3.00
IR R fE = Fr Ik 3 3 16 (6) 16 (6)| 5.33 | 5.33
Yyh— 3 3 19 (4) 19 (4)] 6.33 1.67
ERT 1 1 1 (1) 1 (1)[ 1.00 | 0.00
IRy kR—IL 3 2 5 12 (4) 1 (0) 19 (4)| 3.80 | 3.00
NL—HR—)L 3 3 2 (1) 2 (1)| 0.67 1.67
B b B4R BxbHd 4 2 5 @ 7 @] 1.75 | 2.75
&t 19 49 (15) 15 (4) 64 (19)| 3.37 2.74
B’ Yyh— 2 2 1 (1) 1 (1) 3.50 | 6.50
STE— 2 2 (1) 4 (1| 2.00 | 2.50
&t 4 11 (2) 11 )| 2.75 4.50
ERI (EERD F:E 3 3 33 3 (3] 1.00 [ 1.33
Yyh— 3 3 11 3) 11 3)| 3.67 3.00
&t 6 11 (3) 3 (3) 14 6)[ 2.33 2.117
alll PN X Fr Ik 2 2 L)) 8 (3)] 4.00 [ 4.00
INRy bR—)L 4 4 11 (4) 11 (4)| 2.75 | 6.00
&t 6 19 () 19 | 38.17 5.33
AN &g Bx@HT 3 0 (0) 1 (0) 1 (0)[ 0.33 | 0.33
FIAER BxEbHd 3 0 ()] 0 (0)] 0.00 [ 0.00
;A Fk 4 4 1 (1) 1 (1)[ 0.25 | 0.25
&t 10 1 (1) 1 (0) 2 (1)[ 0.20 | 0.20
BE& BE BBk 3 3 2 (0 2 (0] 0.67 | 1.33
IRy kR—IL 3 3 6 6 (1) 6 (4) 12 (B)| 2.00 | 2.00
&t 9 8 (1) 6 (4) 14 ()| 1.56 1.78
XH P EE S BxEHT 3 0 (0 ()] 0 (0)] 0.00 [ 0.33
fE = Fr ok 3 3 2 (0) 2 (0)| 0.67 | 0.67
NL—HR—)L 3 3 6 2 (1) 1 (0) 3 (1)| 0.50 | 0.83
&t 12 4 (1) 1 (0) 5 (1)[ 0.42 | 0.67
M X} BxbHd 2 1 0 0 O 1 0| 0.50 —
ESES = Fr Ik 3 3 1 (3) 1 (3)| 2.33 | 4.67
F7IU—T425 3 3 9 ) 9 2] 3.00 | 2.33
&t 6 1 (3) 9 (2) 16 (B)| 2.67 | 3.50
HEA FmE A BxEHd 3 0 5 (D 5 (1] 1.67 | 2.00
fE = Fr ok 6 6 9 (3) 9 (3)| 1.50 | 1.00
&t 9 9 @ 5 @ 14 (4] 1.56 | 1.33
R NL—FR—)L 3 3 5 (0) 5 0)| 1.67 1.50
R Ry bR—IL 2 2 2 (0) 2 (0] 1.00 | 5.00
Py LKE R BBk 3 3 (3) 5 ()] 1.67 | 1.67
INRTy kR—IL 3 3 6 1 (5) 9 (1) 19 6| 3.17 1.83
&t 9 15 (8) 9 (1) 24 9)[ 2.67 1.78
¥ BEE EJBC BxEHd 3 4 (3 2 (M 6 (4] 2.00 | 2.33
fE = Fr ok 3 3 2 (0) 2 0)| 0.67 1.67
Yyh— 3 3 11 2) 11 )| 3.67 3.00
INRy bR—)L 2 2 4 8 (2) 1 (0) 9 (2)| 2.25 | 4.00
&t 13 25 () 3 (1) 28 8)] 2.15 2.85
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¥ REE = Fr Ik 3 3 4 (0 4 (0] 1.33 | 3.67
Yoh— 3 3 6 (5) 6 ()| 2.00 | 1.00
&t 6 10 (5) 10 (B)| 1.67 2.33
it it EE S BxEHT 6 7 O 17 @ 24 (6)| 4.00 | 5.50
BBk 4 | 4 6 (3 6 (3 1.50 | 1.75
Kk BxEHT 2 1 (1) 2 O 3 (1)] 1.50 [ 2.50
&t 12 14 () 19 (3) 33 (10)[ 2.75 3.00
25 25 Yoh— 3 3 5 2) 5 2)| 1.67 | 2.33
IRy kR—IL 2 2 4 5 (1) 1 (0) 6 (1) 1.50 | 4.25
EST Bx@EHT 2 0 (0) 1 (0) 1 (0)| 0.50 | 2.00
&t 9 10 (3) 2 (0) 12 (3)[ 1.33 3.1
XR fE = Fr Ik 3 3 9 (2) 9 (2)| 3.00 | 2.33
IRy kiR—IL 3 3 6 1 (0) 2 (0) 3 0)[ 0.50 | 1.33
NL—HR—)L 3 3 1 2) 1 (2)| 2.33 | 0.67
B b B4R BxbHd 3 3 M 3 M 6 (2] 2.00 | 4.00
&t 15 13 (3) 12 (3) 25 6)[ 1.67 1.93
w45 g E Bk 4 4 17 3) 17 )| 4.25 2.50
NRy bR—)L 5 5 1 (1) 1 (1)[ 1.40 | 0.80
B b B4R BxbHd 6 7. M 4 (1) 11 (2)| 1.83 | 3.50
&t 15 24 (4) 11 (2) 35 6)[ 2.33 2.33
=5 #E BT 3 1 1) ()] 1 (1) 0.33 | 1.67
fE = Fr Ik 3 3 6 (0) 6 (0)[ 2.00 | 4.00
Yyh— 3 3 13 2) 13 )] 4.33 3.67
VIbT=R 2 2 3 (1) 3 (1)| 1.50 | 3.50
INRTy kR—IL 3 3 6 6 (1) 2 (1) 8 @] 1.33 | 2.17
NL—HR—)L 3 3 2 (0) 2 (0)| 0.67 | 2.00
B b B4R BxEbHd 2 3 O 1 1) 4 (1)] 2.00 [ 0.50
&t 22 32 (5) 5 (2) 31 (7| 1.68 2.50
BwE A KB BxEHT 2 0 1 1) 1 (1)| 0.50 | 4.00
Yoh— 4 4 16 (4) 16 (4)| 4.00 | 4.50
IRy kR—IL 3 3 6 (4) 6 (4)[ 2.00 | 1.67
STE— 2 2 2 (1) 2 (1)[ 1.00 | 1.50
&t 11 24 (9) 1 (1) 25  (10)| 2.27 3.09
"% = Fr ok 3 3 6 2) 6 (2)| 2.00 | 4.33
INR7y kR—IL 3 2 5 9 2) 1 (0) 10 (2)| 2.00 | 2.00
NL—HR—)L 2 2 2 (1) 2 (1)[ 1.00 | 1.00
= 10 15 @ 3 (M| 18 (5] 1.80 | 2.50
*E EJBC 3 3 6 4 (0 ()] 4 (0)] 0.67 [ 1.17
fE = Fr ok 3 3 2 (0) 2 (0)| 0.67 1.33
Yyh— 3 3 3 (0) 3 0)[ 1.00 | 1.00
INRy biR—)L 3 3 5 (3) 5 (3)| 1.67 | 2.00
&t 15 14 (3) 0 (0) 14 (3)[ 0.93 1.33
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BRI B Hyh— 3 3 8 (0) 8 )| 2.67 2.67
INR5y kik—)L 3 3 6 (4 6 (4] 2.00 | 3.33
STE— 2 2 0 (O 0 (0] 0.00 | 0.00
REEBEEL BLfbhd | 3 2 M O 3 @ 1.00 | 3.00
&t 11 16 (5 O 17 (®)] 1.55 | 2.45
RILHH B BFEk 6 6 4 (0) 4 0)| 0.67 3.00
tHiE Ek-diskekD 4 3 M 1 M 4 (2)| 1.00 1.00
IRy kik—)L 2 2 1 1 (0)] 0.50 | 0.50
NL—HR—JL 4 3 7 70 4 D 11 (] 1.57 | 1.43
REEBEER BLMbHd | 5 4 D 3 M 7 @] 1.40 | 2.20
&t 24 18 9 21 )| 1.13 | 1.77
BT WEE B&lEhHd 2 0 (0) 0 (0) 0 ©)| 0.00 [ 2.50
B BBk 3 3 17O 7 @] 2.33 | 2.33
NL—AR—JL 2 2 2 O 2 (| 1.00 | 0.50
&t 7 ) 2 (0 9 @ 1.29 | 1.67
BIE VEE ] B&lEhHd 4 0 (0) 1 D) 1 (M| 0.25 | 0.75
fE L BRER Ek-dikekD 4 2 (0) 1 (0) 3 )| 0.75 1.75
Hhigh F ik ERdikokD 2 0 (0) 1 (0) 1 0)| 0.50 | 2.00
&t 10 2 O 3 M 5 (1) 0.50 | 1.33
T E X BBk 5 5 3 M 3 (M| 0.60 | 1.40
NRYy kR—)L 5 5 0 (O 0 (0] 0.00 | 2.20
£t 10 3 M 0 (O 3 M| 0.3 | 1.80
2 2% B EFER 4 4 11 @) 11 3)| 2.75 3.50
Hyh— 5 5 17 @ 17 (@] 3.40 | 2.00
x:8 ER-dikekD 2 2 (0) 0 (0) 2 )| 1.00 1.50
£t 11 30 @ 0 (O 30 (D] 2.713 | 2.71
EE Hyh— 3 3 21 (3 21 (3)[ 7.00 | 6.33
IR SIFEN X BBk 2 2 12 @ 12 (4] 6.00 | 5.00
V2 bAR—L 2 2 2 O 2 (0] 1.00 | 1.00
IRy kik—)L 3 3 8 @ 8 (| 2.67 | 2.00
NL—HR—JL 3 3 4 @ 4 @] 1.33 | 1.67
N FR—L 3 3 0 (O 0 (| 0.00 | 1.33
&t 13 12 4 14 (6) 26 (10)] 2.00 | 2.08
T FE B&lEhHd 5 0 (0) 1 1) 1 (1) 0.20 | 0.40
INE B BBk 2 2 12 @ 12 (@] 6.00 | 2.00
IRy kik—)L 2 2 4 3 O 5 @ 8 (3| 2.00 | 2.25
NSEPA Y 3 3 6 7 5 (D 12 @] 2.00 | 2.33
Ny FR—)L BxlEhHd 2 3 (0) 0 (0) 3 ©)| 1.50 | 2.50
&t 14 25 (3 10 @4 35 (M| 2.50 | 2.29
et AR B&lEhHd 2 1 D) 1 (0) 2 (M| 1.00 | 0.50
& E Ek-di5kekD 6 0 (0) 3 (2) 3 (2)| 0.50 1.17
fE = BBk 5 5 8 @ 8 (@ 1.60 | 1.20
&t 13 ) 4 @ 13 ] 1.00 | 1.08
NN Hyh— 2 2 ) 9 (0)] 4.50 | 5.50
B BBk 2 2 6 (0 6 (0] 3.00 | 7.50
REEBEEL BLfbhd | 2 0 (O 1 1 (0)] 0.50 | 1.00
&t | 6 15 (0) 1 O 16 (0] 2.67 | 4.67
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INEF FE (T8EF) EE S BxEHT 6 5 (M 18 @ 23 (4| 3.83 | 5.00
fE = Fr Ik 6 6 15 (5) 15 (B)| 2.50 | 4.67
Yyh— 4 4 17 (5) 17 (B)| 4.25 2.75
BE_E BRI Bx@EHT 3 4 (0) 2 (0) 6 0)[ 2.00 | 2.33
&t 19 41 3adn 20 (3) 61 (4] 3.2 4.00
NEFI Wegs 2 Bx@EHT 2 1 (0) 1 (0) 2 (0)[ 1.00 | 0.50
R Fr Ik 4 4 4 (1) 4 (1| 1.00 | 2.50
Yyh— 2 2 2 (0) 2 0)[ 1.00 | 3.50
&t 8 1 (1) 1 (0) 8 ()| 1.00 | 2.25
ExH Wege 2 Bx@EHT 4 3 (0) 3 (0) 6 (0)[ 1.50 | 3.50
E Bk 5 5 17 2) 17 2)] 3.40 1.80
NRTy bR—)L 3 3 4 (2) 4 (2)| 1.33 | 0.67
Yyh— 3 3 1 (4) 1 4] 2.33 -
BEE R (hRIEEE) 3 3 1 (0) 1 0)| 0.33 1.33
&t 18 28 (6) 1 (2) 35 8)[ 1.94 1.72
wmas (Ear) F:E BxEHT 3 2 (O 3 M 5 (1)] 1.67 | 1.50
= Fr Ik 3 3 2 (0) 2 0)[ 0.67 | 2.33
INRy biR—)L 2 2 4 (3) 4 (3)| 2.00 | 0.50
Yyh— 3 3 12 4 12 4] 4.00 -
&t 11 16 (4) 1 (4) 23 (8)[ 2.09 1.57
HE% HEEI KEE BxEbHd 2 0 6 M 6 (1] 3.00 | 3.50
FF R F¥ e INL—R—JL 3 3 5 (3) 5 3) 1.67 | 2.33
NV FR—)L BxEbHd 3 0 3 3 (0)] 1.00 [ 1.00
&t 6 0 (0) 8 (3) 8 (3)| 1.33 1. 67
[kl INRTy kR—IL 2 2 7 (5) 1 (B)| 3.50 | 1.00
NV FR—)L 2 2 4 5 2) 1 (1) 6 (3)| 1.50 | 1.00
ZJE— 3 3 4 (1) 4 (1| 1.33 | 2.00
&t 9 16 (8) 1 (1) 17 (9 1.89 1.33
AR R Fr Ik 5 5 6 (0) 6 0)[ 1.20 | 2.00
Yyh— 4 4 9 (4) 9 (4)| 2.25 | 4.50
Ry kR—IL 4 4 6 (1) 6 (1) 1.50 | 2.75
NL—HR—)L 4 4 7 (1) 1 (M| 1.75 1.00
&t 17 15 (4) 13 (2) 28 (6)| 1.65 2.53
N INE (EERD BBk 2 2 17 7 (1] 3.50 | 2.00
Ry kR—IL 1 1 1 (0) 1 0)[ 1.00 | 3.00
AN et i 2 2 2 5 (1) 5 (1)| 2.50 | 2.00
&t 5 1 (1) 6 (1) 13 2] 2.60 | 2.20
INET Wes 2 Bx@HT 4 0 (0) 2 (1) 2 (1)[ 0.50 | 1.25
R Fr Ik 6 6 6 (0) 6 0)[ 1.00 | 1.83
V7 hAR—L 1 7 9 (2) 9 @) 1.29 1.43
ZJE— 2 2 2 (0) 2 0)[ 1.00 | 0.40
INRy biR—)L 2 2 6 (0) 6 0)| 3.00 -
&t 21 14 (0) 11 (3) 25 3)[ 1.19 1.27
INER = Fr Ik 2 2 3 (1) 3 (1)| 1.50 | 5.50
Yyh— 2 2 6 (0) 6 0)[ 3.00 | 1.00
INRy bR—)L 3 2 5 5 (1) 2 (2) 1 (3)| 1.40 | 1.60
&t 9 14 (2) 2 (2) 16 4)[ 1.78 2.33
BE BE BBk 6 6 22 (1) 22 ()| 3.67 | 2.33
INR7y kR—IL 3 3 6 7 (1) 4 2) 11 3)[ 1.83 1.83
NL—HR—)L 3 3 4 (2) 4 2)| 1.33 | 2.67
5 15 29 @ 8 @] 371 (6)] 2.41 | 2.20
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BRATIL WA EE S BxEHT 3 1 (0) 1 0) 2 (0)] 0.67 [ 1.00
fE = Fr Ik 2 2 2 (0) 2 0)[ 1.00 | 3.00
Yyh— 2 2 3 (0) 3 0)[ 1.50 | 2.50
NRy biR—)L 2 2 1 (0) 1 (0)[ 3.50 | 2.00
NFEV Y BxEbHd 4 D) 3 O 11 (1| 2.75 | 2.50
BE_E BRI BxEHT 2 0 (0) 0 (0) 0 (0)[ 0.00 | 1.00
&t 15 21 (1) 4 (0) 25 ()| 1.67 2.00
HEAILTE fE = Fr Ik 3 3 4 (0) 4 )| 1.33 1.67
Yyh— 3 3 1 (0) 1 0)[ 2.33 | 3.33
&t 6 11 (0) 11 0)[ 1.83 2.50
BE BE ] BxEHT 3 0 (0 2 O 2 (0] 0.67 | 1.00
fE = Fr ok 4 4 4 (3) 4 (3)| 1.00 | 1.75
Yyh— 4 4 8 3) 8 3)[ 2.00 | 2.50
NL—HR—)L 3 3 4 (2) 4 )| 1.33 1.67
B bRt (PRIERE) BxbHd 3 1 (1) 2 3 (2)] 1.00 [ 1.33
&t 17 13 () 8 (3) 21 (10)| 1.24 1.71
nI BI = Fr Ik 3 3 9 3) 9 3)[ 3.00 | 3.67
Yyh— 3 3 14 (4) 14 (4)| 4.67 | 6.00
&t 6 23 () 23 (7| 3.83 4.83
BAH B’A# BRXT=R 2 2 4 (1) 4 (1)[ 2.00 | 2.00
R Fr Ik 2 2 (1) 3 (W] 1.50 | 4.00
Yyh— 2 2 12 2) 12 (2)| 6.00 | 7.00
IRy kR—IL 2 2 10 3) 10 (3)| 5.00 | 3.50
NL—HR—)L 2 2 4 3 (0) 1 (1) 4 (1)[ 1.00 | 1.00
NV FR—L BxEbHd 4 3 (2 2 (2 5 (4] 1.25 | 2.50
BE_E BRI BxEHT 3 5 (1) 1 (0) 6 (1)[ 2.00 | 3.33
&t 19 36 (9) 8 (4) 4  (13)| 2.32 3.00
RAHME fE Fr Ik 3 3 10 (5) 10 (®)| 3.33 1.33
Yyh— 4 4 17 3) 17 )| 4.25 3.50
Kik BxEHT 2 2 (M 5 M 7 (2] 3.50 | 2.50
INRTy kR—IL 2 | 2 4 16 (5) 6 2) 22 (7| 5.50 | 2.75
B _E BRI Bx@EHT 2 0 (0) 1 (1) 1 (1)[ 0.50 | 2.50
&t 15 45  (14) 12 (4) 57 (18)| 3.80 2. 60
BH HH fE = Fr Ik 2 2 4 (1) 4 (1)[ 2.00 | 1.00
DHFEE BxEbHd 2 V() 1 1) 1 (1) 0.50 | 0.00
VIbT=R 2 2 4 5 (2) 6 (1) 11 (3)| 2.75 | 2.00
IRy kR—IL 2 2 1 (0) 1 (0)[ 0.50 | 1.00
&t 10 9 (3) 8 (2) 17 (BG)[ 1.70 | 1.20
RABK AB KA EJBC BxEHT 4 5 (2 ()] 5 (2)] 1.25 | 0.50
fE = Fr ok 4 4 5 (0) 5 0)| 1.25 1.00
INRTy kR—IL 4 4 8 3) 8 3)| 2.00 | 2.75
&t 12 10 (2) 8 (3) 18 ()| 1.50 1.42
EBA Rl EES BxEHT 1 V() 2 O 2 (0)] 2.00 [ 2.00
F:E BxEHT 4 1 (1) 1 (1) 2 (2)] 0.50 [ 1.25
R Fr Ik 4 4 5 (0) 5 )| 1.25 1.50
Yyh— 5 5 12 (4) 12 (4)| 2.40 | 2.20
VI2+T=X 3 3 4 (1) 4 (1| 1.33 2.00
AN et i 2 2 2 2 (1) 2 (1)[ 1.00 | 1.00
N FR—L FxMbT | 3 M o @ 3 @] 100 1.00
£t | 22 21 (6) 9 (3) 30 (9] 1.36 1.59
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BF BFt B BBk 4 4 0 (O 0 ([ 0.00 ] 0.00
Hyh— 4 4 0 (O 0 (| 0.00 | 1.75
&t 8 0 (O 0 (0] 0.00 | 0.88
FER A BT 2 2 ) 3 @] 1.50 | 1.00
B BBk 3 3 4 @ 4 (2] 1.33 | 3.33
FE BLfbhd | 3 4 (0 O 4 (0| 1.33 | 1.00
NL—Hh—IL 1 3 3 2 @ 2 (2] 0.67 | 1.00
REEBEEL BLfbhd | 3 2 O 3 (0 5 (0] 1.67 | 2.67
=t 14 13 @4 5 @ 18 (®] 1.29 | 1.86
TS BRAEIK 4 4 ) 5 (] 1.25 | 1.50
Hyf— 4 4 8 @ 8 4] 2.00 | 2.00
VI rR—L 4 4 2 @ 2 (@] 0.50 | 1.00
NRFy kR—IL 3 3 4 @ 4 @] 1.33 | 1.67
NL—AR—JL 3 3 4 4 @ 1.33 | 1.67
&t 18 13 (6) 10 O 23 (13)] 1.28 | 1.56
IE ZEN GV EEE g8 1 1 1 ) 1 (1| 1.00 1.00
Hyh— 1 1 3 M 3 ()] 3.00 | 0.00
£t 2 3 O 4 @] 2.00 | 0.50
HEHH HHW(Z &I ETER) &8 BLfhHd 3 1 ) 0 (0) 1 (1)| 0.33 | 0.33
BX7F=X 1 1 0 (O 0 (0| 0.00 | 0.00
B BBk 2 2 (O 0 (0] 0.00 | 0.50
Hyh— 2 2 0 (O 0 (0| 0.00 | 0.50
NRFTy kR—IL 2 2 0 (O 0 (0] 0.00 | 1.00
£t 10 1 0 (O 1 (1] 0.10 | 0.50
=H =[JIl #8 BLfhHd 3 0 (0) 0 (0) 0 )| 0.00 [ 0.75
Hyh— 3 3 G 7 (3] 2.33 | 3.00
x:8 Ek-dikekD 3 1 (0) 2 (2) 3 (2)| 1.00 1.00
IRy kik—)L 2 2 2 @ 2 @ 1.00 | 1.67
NL—HR—IL 2 2 2 O 2 (0] 1.00 | 1.00
£t 13 10 (5 4 @ 14 M| 1.08 | 1.47
XH EJE Hyh— 4 4 9 ) 9 (M| 2.25 1.25
IRy kik—)L 2 2 5 @ 5 (3| 2.50 | 2.50
NL—Hh—IL 3 3 4 (0 4 (0] 1.33 | 2.00
REEBEEL BLbHd 1 4 D O 4 (1| 4.00 | 0.50
&t 10 18 (5 4 (0 22  (5)] 2.20 | 1.58
it RS KR B&lEhHT 3 2 (0) 2 (0) 4 )| 1.33 | 0.67
Hyh— 5 5 4 (0 4 (0] 0.80 | 2.40
IRy kik—)L 4 4 6 () 6 ()] 1.50 | 1.25
= 12 2 (O 12 () 14 (] 1.17 | 1.58
w15 WwRIEEE £E B&lEhHT 3 0 (0) 6 1) 6 (1) 2.00 [ 2.00
BE KRR EX0 BLfhd 20 10 (2) 36 (8) 46 (10)| 2.30 [ 2.25
EEATW K FE B&lEhHd 4 5 D) 4 D) 9 (2)| 2.25 1.75
B BBk 4 4 6 (3 6 (] 1.50 | 0.50
NRTy kR—IL 3 3 IO 11 ()] 3.67 | 1.67
fE Ewts (PR EERE) CEediibok 3 2 M 2 M 4 (2)] 1.33 | 0.33
&t | 14 13 (5) 17 (3) 30 (8] 2.14 | 1.07
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IR EHIE (Hewh) R EPER 1 1 0 (0) 0 0)[ 0.00 | 1.00
(BBE) B Ek 1 1 3 (0) 3 (0)[ 3.00 | 0.00
(BR) X Frik 2 2 1 (0) 1 (0)[ 0.50 | 2.00
(%) EXEF Bk 1 1 0 (0) 0 (0)[ 0.00 | 2.00

IRy kR—IL 2 2 2 (0) 2 0)[ 1.00 -
&t 1 6 (0) 6 (0)| 0.86 1.40
HAA WEeEIH X Fr Ik 10 10 12 (0 12 (0] 1.20 | 1.30
INRy biR—)L 3 3 1 (2) 1 (2)| 2.33 | 0.67
&t 13 19 (2) 19 (2)| 1.46 1.15
it BT BBk 5 5 3 0 3 (0)] 0.60 [ 0.40
EST] 5 5 1 (1) 1 (1) 0.20 | 1.00
NL—HR—)L 5 5 2 (0) 2 (0)| 0.40 | 1.20
&t 15 6 (1) 6 (1)[ 0.40 | 0.87
A1l FINI%E fE = Fr ok 2 2 0 (0) 0 (0)[ 0.00 | 0.50
EST 2 2 0 (0) 0 (0)[ 0.00 | 0.50
INRy bR—)L 2 2 5 (0) 5 (0)[ 2.50 | 1.50
ZJE— 2 2 0 (0) 0 0)[ 0.00 | 0.50
&t 8 5 (0) 5 (0)[ 0.63 | 0.75
[k BTz i Fp Ik 7 7 14 @ 14  (1)] 2.00 [ 1.43
B4 BEIE CJPE] Bx@HT 5 6 (1) 0 (0) 6 (1) 1.20 | 2.00
(- BER-RELFE) i Fr ik 5 5 8 (M 8 (1| 1.60 | 1.40
&t 10 14 (2) 0 (0) 14 2)[ 1.40 1.70

FRR HETE (Hemh) FECEPER 1~2 1~2 0 (O 0o O - -

() FE = BP Bk 1~2 1~2 1 (0 1T 0] - -

(#h %) L Eak 1~2 1~2 1 (0) 1 ] - -
INET 5 5 2 (0) 2 (0)[ 0.40 | 2.40
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